7/31/2024 10:28:18.583 [RX] - <NUL>H
7/31/2024 10:28:20.303 [RX] - <CR><LF>
RDY<CR><LF>

<CR><LF>

+CFUN: 1<CR><LF>

7/31/2024 10:28:22.767 [RX] - <CR><LF>
+CPIN: READY<CR><LF>

7/31/2024 10:28:22.907 [RX] - ATE1<CR><LF>
OK<CR><LF>

AT+CFUN=0<CR><LF>

OK<CR><LF>

7/31/2024 10:28:23.084 [RX] - AT+CPSMS=0<CR><LF>
OK<CR><LF>

AT+CEDRXS=0<CR><LF>

OK<CR><LF>

AT+QNWCFG=0,1<CR><LF>

OK<CR><LF>

AT+QBAND=1,3<CR><LF>

OK<CR><LF>
AT+QCGDEFCONT="IP","iot4u.br","arqia","arqia"<CR><LF>
OK<CR><LF>
AT+CFGDUALMODE=1,0<CR><LF>
OK<CR><LF>

AT+CFGRATPRIO=2<CR><LF>

OK<CR><LF>

AT+CFUN=1<CR><LF>

OK<CR><LF>

AT+CGACT=2,1<CR><LF>

ERROR<CR><LF>

AT+QCCID<CR><LF>

+QCCID: 89551808000522594571<CR><LF>
<CR><LF>

OK<CR><LF>

7/31/2024 10:28:23.708 [RX]
+CSQ: 99,99<CR><LF>
<CR><LF>

OK<CR><LF>

AT+CSQ<CR><LF>

7/31/2024 10:28:25.757 [RX]
+CSQ: 99,99<CR><LF>
<CR><LF>

OK<CR><LF>

AT+CSQ<CR><LF>

7/31/2024 10:28:27.806 [RX]
+CSQ: 99,99<CR><LF>
<CR><LF>

OK<CR><LF>

AT+CSQ<CR><LF>

7/31/2024 10:28:29.855 [RX]
+CSQ: 99,99<CR><LF>

AT+CSQ<CR><LF>



<CR><LF>
OK<CR><LF>

7/31/2024 10:28:31.902 [RX] - AT+CSQ<CR><LF>
+CSQ: 26,99<CR><LF>

<CR><LF>

OK<CR><LF>

7/31/2024 10:28:33.951 [RX] - AT+CEREG?<CR><LF>
+CEREG: 0,0<CR><LF>

<CR><LF>

OK<CR><LF>

AT+CREG?<CR><LF>

+CREG: 0,1<CR><LF>

<CR><LF>

OK<CR><LF>

AT+CGACT=1,1<CR><LF>
ERROR<CR><LF>
AT+QNTP=1,"a.stl.ntp.br"<CR><LF>
ERROR<CR><LF>

7/31/2024 10:28:36.191 [RX] - AT+QNTP=1,"a.stl.ntp.br"<CR><LF>
ERROR<CR><LF>

7/31/2024 10:28:38.535 [RX] - AT+QMTCFG="ssl1",1,0,1,1<CR><LF>
OK<CR><LF>

AT+QMTCFG="keepalive",1,500<CR><LF>

OK<CR><LF>

AT+QMTOPEN=1, "mqtt.thingsboard.cloud",1883<CR><LF>

OK<CR><LF>

<CR><LF>

+QMTOPEN: 1,-1<CR><LF>

7/31/2024 10:29:09.147 [RX] - AT+QMTOPEN=1,"mqgtt.thingsboard.cloud",1883<CR><LF>
OK<CR><LF>

<CR><LF>

+QMTOPEN: 1,-1<CR><LF>



